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1. FEEBIA
e {)V'ON 16,000,000 J|[ 16,580,000 J|( A 580,000 )
EEBSEINA 8,500,000 )| ( 8,330,000 ) | ( 170,000 )
=750 - B B R PE 2 2 500,000 480,000 20,000
L 2,800,000 2,730,000 70,000
[EPNESS=! 200,000 220,000 A 20,000
BEE AR - T 5,000,000 4,900,000 100,000
=GIESSEES PN 7,500,000 ) [( 8,250,000 ) | ( A 750,000 )
AL 6,500,000 7,200,000 A 700,000
TESAE 1,000,000 1,050,000 A 50,000
B AN 9,000,000 J|[ 11,000,000 J|([ A 2,000,000 ]
AR R E IR 5,000,000 5,000,000 0
FEENEN N
AR B IR IIRRE - 29T 4,000,000 5,000,000 A 1,000,000
W= BRI
Zrht 4 0 1,000,000 A 1,000,000
HMEON 30,000 J|( 29,681 J| [ 319 )
= BUFIL B A 30,000 11,237 18,763 |[Emmaxste
HMESUN 0 18,444 A 18,444
FEIEEAG 25,030,000 27,609,681 A 2,579,681
2. HEILEIH
FEL 25,184,000 J|[ 26,397,479 J|[ A 1,213,479 )
TRt 25,184,000 )| (26,397,479 ) | (A 1,213,479 )
Hhe 2 AR B 3L D Bl Ak 4,970,000 5,452,195 A 482,195
S DHE WAL 17,254,000 17,779,609 A 525,609
[EIBE AW D B Ak 2,160,000 2,137,661 22,339
SR ) 800,000 1,023,549 A 223,549
MESH 0 4,465 A 4,465
(g E- S 3,510,000 J|[ 3,254,748 J|( 255,252 ]
& B R S 120,000 80,000 40,000
FBRF Y 3 HY 2,400,000 2,439,544 A 39,544
EERERE S H 220,000 267,853 A 47,853 [rhafRpoktstadm
AR AR 2 3 H 30,000 0 30,000
- 10,000 6,000 4,000 |#REs-Rs
T A 3 HY 40,000 9,600 30,400
A E TE R S H 200,000 176,132 23,868 |®(HE- EIHEH
THAEAT i fh B S 100,000 88,709 11,291 |<c&EEAm
FIRISAR L 3 50,000 32,760 17,240
BB 30,000 30,000 0
FABLAGR S H 30,000 3,400 26,600 |3 I AFDEAL
HESH 280,000 120,750 159,250 [#RiA FXokH
FEIEE) S 28,694,000 29,652,227 A 958,227
TR BN S AR A 3,664,000 A 2,042,546 A 1,621,454
0 FleE 3 H 1,458,000 0 1,458,000
WY S FERA A 5,122,000 A 2,042,546 A 3,079,454
AT B S 72 A 8,987,583 8,987,583 0
YIRS KA 3,865,583 6,945,037 A 3,079,454
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GAEORAL, BeTEE, THVESEZ G TND,

2. YRR S RIS & D B E M ORI D NER
UM SRR & END B E M OCRBEDONTIE, IROEBVTHD,

(HAZ: M)
B H FIE PR AR BN
Bléeae 9,005,987 6,945,037
= &t 9,005,987 6,945,037
TR 4> 18,404
= it 18,404 0
TR N S 2R 8,987,583 6,945,037




